

09/13/2019

Page 1 of 1

Vendor Ranking

Contract: E4T95-R0

Letting: 04190913 September 13, 2019 10:30

\$20,811.00

District: District 4 Counties: DIST/ST-WIDE

Call Order: 002

Non-Winning Bid

Fed Aid No: N/A

3

Contract Time: 365 CALENDAR DAYS

AM

Project(s): 40388857201 (*)

Contract Desc: TREASURE COAST MAINTENANCE OF TRAFFIC PRIMARY - MAINTENANCE

BOB'S BARRICADES, INC.

Percent Of Bid Type Bid Status Total Bid Rank Vendor Low Bid 1 ROADSAFE TRAFFIC SYSTEMS, INC. Responsive Winning bid 100.00% \$17,353.25 2 ACME BARRICADES, L.C. Responsive Non-Winning Bid \$19,662.00 113.30%

Responsive

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED

BEGIN DATE:

09/24/19

BEGIN TIME:

10;30 AM

119.93%

END DATE:

09/27/19

END TIME:

10:30 AM





Tabulation of Bids

Page 1 of 3

Letting: 04190913 September 13, 2019 **Call Order:** 002 **Contract:** E4T95-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 40388857201 (*)

Contract Descr: TREASURE COAST MAINTENANCE OF TRAFFIC PRIMARY - MAINTENANCE

The work under this Contract consists of Maintenance of Traffic on State Roadway System in St. Lucie, Indian River and

Martin Counties.

The summary of pay items for this project is listed in the Bid Price Proposal.

MAXIMUM LIMITING CONTRACT: The award and the contract performance bond shall be based on the maximum limiting budgeted amount of \$20,000.00 and not the Contractor's bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROADSAI SYSTEM		(2) ACME BARI	RICADES, L.C.	(3) BOB'S BAF	RRICADES, INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 TR	AFFIC CON	TROL (MH)					
0005 0102 60 WORK ZONE SIGN	102.000 ED	0.75000	76.50	2.00000	204.00	1.00000	102.00
0010 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD	149.000 I, ED	0.75000	111.75	2.00000	298.00	1.00000	149.00
0015 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	15.000 ED	15.00000	225.00	50.00000	750.00	15.00000	225.00
0020 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	15.000 ED	40.00000	600.00	50.00000	750.00	35.00000	525.00
0025 E102 1 3 MAINTENANCE OF TRAFFIC (SITE SPECIFIC)	9.000 LO	900.00000	8,100.00	1,000.00000	9,000.00	1,600.00000	14,400.00





Tabulation of Bids

Page 2 of 3

Lettin	g : 041	190913	September 13,	2019 Ca l	II Order: 002		Contract:	E4T95-R0		
Line No / Item ID Alternate		e Quantity Units	(1) ROADSAFE TRAFFIC SYSTEMS, INC.		(2) ACME BARRICADES, L.C.		(3) BOB'S BARRICADES, INC.			
	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 TRAFFIC CONTROL (MH)										
0030 OFF-DI OFFICE	E102 10 UTY LAW ENFO ER	RCEMENT	50.000 MH	70.00000	3,500.00	60.00000	3,000.00	50.00000	2,500.00	
0035 TRAFF	E102 74 9 IC CONES		160.000 ED	1.50000	240.00	1.00000	160.00	1.00000	160.00	
	E102 97 1 (MOUNTED ATT ORARY)	ΓENUATOR	5.000 ED	900.00000	4,500.00	1,100.00000	5,500.00	550.00000	2,750.00	
0001 TRAFFIC CONTROL (MH) Section Totals: \$17,353.25 \$19,662.00 \$20,811.00										
		Contract Gr	and Totals:		\$17,353.25		\$19,662.00		20,811.00	



09/13/2019

Tabulation of Bids

Page 3 of 3

Letting: 04190913 September 13, 2019 **Call Order:** 002 **Contract:** E4T95-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.